EARAROBREBRT —5 XN—ZXBISH—F 202338128 (B) 18EE01H

O SRR A =S USRI ‘(fﬁl 8 ‘[%EH%FEEH - | & 13000 =
[AXE%) 1 &:600,00H ~ 23#%&:210,000F  337%:120,000H  43#&:90,000H . 5 3&:60,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
3 | AR 1:28.6 1-1-1-1 | 41.6| — 1 451 | BiEAE (S
1@ 4|7/ /FIRT R ) A e NE R
KRRy A—9ILYI B:TFSFFL—V e
o o ~ # 3 | SREA 1:28.9 2-2-2-2 |41.8| - 2 | 4 |HTEEE (&)
2 H g |\ HT7V9R 56.0 (112 3 | @ EﬁJII’EE
RiNW—5—yvS §:T5«4 IO NIERNTP—L
Q 3 | ERER 1:29.2 5-5-4-4 | 41.3| — 4 | 464 | BREMEED (SH)
3 Y 3 7O 56.0 (1172 o) | BHHEZ
RiZvF—0Orv b B:75T35VH RET7—L
~ )5 owhs t 3 | HEE—H 1:29.4 7-7-7-6 | 40.5| — 3 49 | BlE— (=50
41717 |\ TFvITAVAY ! 54.0 m @) | DIAR. TFLRR. ZFATW (
RPN/ TSIV BEAVFILTIR BIN77—L
S . _8-8- - % (&
5 6 <N\OTF7IT7 4t 3 ;'Z*al—f@ 1.?8.3 8-8-8-8 | 40.9 7 (3_975; %égzﬁ (F0)
RIV—RAUYR B:AURATY pleie]
o1 5,7~ KIEHEE : -4-5- - MmEE &
6/5/5 RNIVIT7oFvv b o3 54%“’m . 1'(31(;-5 a5s a7 8 (4;‘27) gaalmi &
RNV vH—)b B:ODF3DFIIIN i &5k
v == it 3 | MBpEE 1:30.6 6-6-6-7 | 42.1| — 5 457 | EEEE (B
] 2| NT—=Y ~ 54.0 (172) (-3) | SHEF
R:FISU—yav4To+r— B:AIAI1— =4 %5
= — FH K : -3-3- - BEieX#H (S0
81101 5 4 AFS 4 3 54.09& 1.(361).9 3-3-3-3 | 44.4 6 (43; mﬁ%s&
R:T7AV=Z—RIL B:SVIT4—3R J—2H—FY
@ 11— —BBIEfI
13—3F— 4,8,1,5,3,2,7,6
20— — 4,8,1,5,3,2,7,6
30—7— 4,8,1,3,5,2,7,6
43— — 4,8,1,3,5,7,2,6
o ILRE
B B 4 110 JA R 4-8 130M B E 4-8 240M4 3EE 3-4-8 3304
7B B 4 100 3-4 130 ==} 4-8 380M 3EH 4-8-3 770
8 110 3-8 240/
3 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.



